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QUESTION 1

-- Exhibit -

-- Exhibit -

An administrator is troubleshooting a NSX controller cluster issue and runs the control-cluster command, 

as shown in the Exhibit. 

What information can be determined from the output provided in the exhibit? 

A. This is the control cluster majority leader controller. 

B. There are two controllers in the cluster. 

C. This is not the control cluster majority leader controller. 

D. The persistence_server role is not functioning correctly. 

Correct Answer: C 

 

QUESTION 2

What are two advantages for using NSX for vSphere\\'s Logical Switching? (Choose two.) 

A. Expands the number of available VLANs. 

B. Allows for Layer 2 switching over Layer 3 infrastructure. 

C. Distributes Layer 3 data across multiple hypervisors 

D. Provides for 10,000 logical segments. 

Correct Answer: BD 
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QUESTION 3

-- Exhibit -

-- Exhibit -

Refer to the Exhibit. You are designing a network for NSX and your customer has stated that virtual machine traffic
needs to span the virtual and physical space. Based on the exhibit, where should this requirement be configured? 

A. Location A. 

B. Location B 

C. Location C 

D. Locations B and C. 

Correct Answer: B 

 

QUESTION 4

How is the Bridge Instance chosen? 

A. It is chosen based on the ESXi host where the Logical Router Control VM is running. 

B. It is manually assigned by the vSphere administrator when the distributed portgroup is configured. 

C. During an election process among all ESXi hosts. The host with the highest MAC address is selected. 

D. The VTEP configured with the highest VXLAN Network Identifier (VNI) is selected. 
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Correct Answer: A 

 

QUESTION 5

What two statements correctly describe the way NSX provides integration with Cloud Management Platforms (CMPs)?
(Choose two.) 

A. OpenStack provides integration with the Cinder plug-in. 

B. OpenStack provides integration with the Neutron plug-in. 

C. VMware provides open source API plug-ins for their own CMP products such as vCloud Director and vRealize
Automation. 

D. VMware provides out of the box integration with their own CMP products such as vCloud Director and vRealize
Automation. 

Correct Answer: BD 
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